CBCS/B.A./B.Sc./Hons./3rd Sem./Economics/ECOACORO05T/2019

§\l‘
/8
i‘.:‘" &G ; Ao~ | LR ETTET
& \ ' WEST BENGAL STATE UNIVERSITY
NN B.A./B.Sc. Honours 3rd Semester Examination, 2019
ECOACOROST-ECONOMICS (CC5)
Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. eNfes i w4z 7eiE YIS fAr7 Fe )
Candidates should answer in their own words ST e I 79 TEq HH A T4
and adhere 1o the word limit as practicable. G PR/
All symbols are of usual significance.
1. Answer any five questions from the following: 2x5=10

EfeiRe @-c #1515 ersg So wias

(a) A risk-averse person is offered a choice between a gamble paying Rs 1,000 with

probability 0.25 and Rs 100 with a probability of 0.75 or a certain payment of
Rs 325. Which would he choose?

«3 e e 19 Rew men 711 aafos B 0.25 FERTE 1,000 Biel @<
0.75 AR 100 BIp! AR | Sfore foF 325 St e i@ @ Raesfs R
ATV FAI 2

(b) What is natural monopoly?
FOIRT GFEHA FRAR IIE I 2

(c) What do you mean by perfect price discrimination?
ol AN oF R FE00 e @I 2

(d) Show that under price discrimination, monopoly price is lower in the market with
more elastic demand.

e @ Rrongere @FoHa FERIEE v @ IAEE sitne Ffeneme @R, o
I Q7S A FH A

(e) What are the price characteristics of monopolistic competition?
a5 A eferaifteryss IR a4l e o

(f) What is monopsony?
“CUACAIFATY P 0T 9

(2) What is bundling?
‘Bundling’ =1t & @icaN ¢

(h) Show that the degree of monopoly power is inversely related to the price
elasticity of demand.

@A (@ @A FroE i) T ifkwE were Fogrrer Bog Roaa |
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2. Answer any four questions from the following: 5x4 =20

R @-@IE 51t 2es Oed wis:

(a) How do you identify a person as risk-averse, risk-neutral or risk lover?

@ e et -, - faeers a1 i v et Hizes wa1am 2
(b) Derive the short run supply curve of a perfectly competitive firm.

sjefiee ST A PICH T Cisiecat fef s
(¢) What is dead weight loss under monopoly?

GO FIRIANA JO-OIF 6 TS I 9

(d) What is excess capacity of a firm under monopolistic competition? How can
excess production capacity be decomposed into two parts?

G0 Ao AT FGR Tge FIo! 00 & QIR 2 9 T8 Frei
eI 76 Ot Set T2 T 9
(e) How can risk be reduced through diversification?

(SIS ERERIEI K (FASC SRauE T K

(f) Show that a monopolist will produce a smaller output and sell it at a higher price
than the equivalent competitive industry.

(I8 (¥ OF& GIHA PR, ey fSraiTonEe FHsr gemm w3 s 73
TeA FA 9RO @ v RS T2t

3. Answer any two questions from the following: 10x2 =20
fasferie @-ceieat 45 aem Seawe: '
(a) Using the weak-axiom of Revealed preference theory show that substitution
effect of price change is always negative.
CIbAS Agered el Tosfima (weak-axiom) HRITY (e (@ wIN RIS FEET
@ 1A &SI G ©f AT |
(b) Explain the short-run equilibrium in a monopolistic competitive market.

GFC B! ARSI AGICE T TSRO e Fean

(¢) Consider a Cobb-Douglas utility function u(q,,9,) =qf g4 and the budget line of 5+5
the consumer isM = p,q, + p,q,. Derive the demand function for ¢,and hence

show that the Cobb-Douglas consumer always spends a fixed fraction of his
income on each good.

RAF GPH FI-TEH TAAS SNAFS & (g, q,) =gf ¢¢ @R WG @A &=

M =p,g,+ p,q,. q, 903 oifEwl Seerws ey @ @R @S @ F-ToE (ot

ot ot wicTe @i e st efelb weara $ofa I 3

(d) 1)) Does a unique supply curve exist under monopoly? Explain your answer. 5+5

GO FERIA (I (AWE QI @ A6 [ 2 Teta F20F g wis )

(i)  Show the short-run equilibrium of a multiplant monopolist.
@36 ‘a3ifeEd eslwe 285’ (multiplant) (R wsoln Frde Ts@w
Sty fRdfae sl
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